o o o ooooo o 0000000 oOoooooooo O0OOO0o0ooo

[ o o o

0000000 OO0OOO0ooooo

oo ooooon WooDoD

205741
o0 D
0ooo
00 0 FC200
S Em— 000000000
—
4 T o0ooomooon
T 0 ASOO0
oooooo
0.cooo
P-NO AS PNO 0oo0ooo
mPO0OP-COO0O0OO0OODOOOOOOOOQN
Oooooooo 0000 0mD oooooo
PUODIINOPNMOODD OO |O0O| d |H | h|L|1| MxP |R|s| G |oooas| oo |oooc| oo | ™
P- 50-N | PN-50 | — | 50 20| 37 14| 33 |21|M 4x07 | 20|10| 31
P- 63N | PN- 63 900 | 63| 22| 42| 14 | 37 [23|M 4x07 | 23]10] 31| Ao10 | 220 — | — [M4x07
P- 80-N | PN- 80 780 | 80, 25| 36| 14 | 24| 9|M 5x 0.8 | 30|13] 39
P-100-N | PN-100 990 |100| 30| 40| 15 | 25 | 9|M 5x 08 | 40]13] 39| AS18 | 220 C-13 | 700 M 5¢08
P-125-N | PN-125 | 1,280 |125| 35| 47| 16 | 29 |12|M 6x 10 | 51|16 48
P-140-N | PN-140 | 1580 |140| 35| 47| 17 | 30 |15|M 6x 10 | 58|16 4g| A516 | 300 C-16 | 660 M 6x 10
P-150-N | PN-150 | 1850 |150| 38| 47| 18 | 33 |15|M 8x 125 62|20] 62
P-160-N | PN-160 | 1.980 |160| 38] 49| 18 | 33 |15|M 8x 1.25] 67]20] 62| AS-20 | 370 | C-20 | 860 M 8x 125
P-180-N | PN-180 | 2480 |180| 38| 53| 20 | 35 |15|M 8x 125 75|20] 62
P-200-N | PN-200 | 2.880 |200 40| 54| 23 | 40 |17|Mi0x 15 | 84|25| 78
P-224-N | PN-224 | 3680 |224| 45| 60| 24 | 40 |18 Mi0x 15 | 95|25| 78
P-250-N | PN-250 | 4.580 |250| 48| 68| 27 | 40 | 19|Mi0x 15 |107,25| 78| S22 | 520 C-25 | 1,050 |M10x 15
P-280-N | PN-280 | 50930 |280| 53] 68| 27 | 45 |19 Mi0x 15 |122|25| 78
P-300-N | PN-300 | 7.180 |300| 56| 70| 29 | 45 |22 Mi2x 1.75129]32| 98
P-316-N | PN-315 | 7.350 |315| 57| 70| 29 | 46 |22 Mi2x 1.75]138|32] 98| AAS82 | 900 | C-32 | 1620 MI2x 175
P-355-N | PN-355 | 0800 |355| 67| 74| 30 | 50 |22 Mi6x 20 |154]36|110
P-400-N | PN-400 | 13.800 |400 68| 85| 32 | 52 |22 Mi6x 20 |176|36 110
P-450-N | PN-450 | 10.800 |450| 75| 95| 32 | 54 |25 Mi6x 20 |200]36|110
P-500-N | PN-500 | 21.800 |500| 82| 91| 34 | 60 |26|Mi6x 20 |225|36/110| AS-36 | 1,400 | C-36 | 2,070 | Mi6x 2.0
P-560-N | PN-560 | — |560| 95| 94| 40 | 65 |30 Mi6x 20 |255]36|110
P-600-N | PN-600 | — |600| 98|112| 40 | 70 |34 Mi6x 20 |273]36|110
P-630-N_|_PN-630 | 52,000 |630]102|114] 41 | 82 |38 Mi6x 20 |288]36110
0000000000000 0000DO00DO0O0O00DOO0O0DOOO0O0OO0DOO0OO0DO0OO0ODOODOOO
sl
oooo
—x 0 0 O FC200
000000000
I 00Oom 000
ST i
3 7/_//_ 2 0 ASOO0
A 0ooooo
S-NO ASO SNO 0 cioo
Oooooo
mSOgS-coodgpoogoogpogod
Ooooooo 0000 0m0 ooooon
sunomomgsNmoond oo oo]d |H| k| L || mxP [R|s|c |oooas/ oo [oooc[oo [ ™
S- 80-N | SN- 80 780 | 80| 25 | 25 | 14 | 24 | 9 M 5% 08 | 30|13, 39
S-100-N | SN-100 990 [100] 30 | 25 | 15 | 25 | 9|M 5x 08 | 40/13] 39| AS18 | 220 C-13 | 700 M 5«08

S-125-N SN-125 1,280 |125/ 35|29 |16 | 29 |12/M 6x 1.0 | 51|16| 48
S-140-N SN-140 1,580 |140| 35|30 |17 |30 |13|M 6x 1.0 | 58|16 48
S-150-N SN-150 1,850 |150| 38 | 34 | 18 | 33 |16|M 8x 1.25| 62|20| 62
S-160-N SN-160 1,980 |160| 38 | 34 | 18 | 33 |16 |M 8x 1.25| 67|20| 62| AS-20 370 | C-20 860 [M 8x 1.25

AS-16 300 | C-16 660 [M 6x 1.0

S-180-N | SN-180 | 2.480 [180 38 | 36 | 20 | 35 |16|M 8x 1.05| 7620| 62
S-200-N | SN-200 | 2.880 |200| 40 | 40 | 23 | 40 |17 Mi0x 15 | 84|25| 78
S-224-N | SN-224 | 3.680 |224] 45 | 40 | 24 | 40 |18|M10x 15 | 9525| 78
S250-N | SN-250 | 4580 |250] 48 | 42 | 27 | 40 |17 |M10x 15 |107 25| 78| A°25 | 520 | C-25 | 1,050 |M10x 15
S-280-N | SN-280 | 5980 |280| 53 | 46 | 27 | 45 |20 |M10x 15 |122|25| 78
S-300-N | SN-300 | 7.180 |300| 56 | 48 | 29 | 46 |20 Mi2x 1.75/129]32| 98
S315-N | SN-315 | 7.350 |315| 57 | 48 | 29 | 46 |20 |Mi12x 1.75138|32| 98| ~°82 | 900 | C-32 | 1620 M12x 175
S-355-N_ | SN-355 | 9.850 |355| 67 | 50 | 30 | 50 |20 Mi6x 20 |154]36/110
S-400-N | SN-400 | 13.800 |400| 68 | 52 | 32 | 52 |20 Mi6x 20 |176]36|110
S-450-N | SN-450 | 14.800 |450| 75 | 60 | 34 | 60 |26 M16x 20 |200]36|110

S500-N | SN-500 | 21.800 |500] 82 | 60 | 34 | 60 |26 M16x 20 |225 36| 110] A>36 | 1,400 | C-36 | 2,070 |M16x 2.0

S-560-N | SN-560 — 560/ 95 | 68 | 42 | 65 |26 |M16x 2.0 |255|36|110
S-600-N | SN-600 | 50,000 [600| 98 | 73 | 42 | 70 |30|M16x 2.0 |273|36|110
000000000000000000000000000000000000000000000

-
012t Gy s




